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100. 4 0.2 1.3 98. 9 -0.2 1.2 2 A
100. 5 0.0 1.7 99. 2 0.3 1.2 3 H
103.0 2.5 3.4 101.5 2.3 3.0 4 H
103.4 0.5 4.2 102. 1 0.6 3.7 5 H
103.4 0.0 4.0 102. 1 0.0 3.5 6 H
103.6 0.2 4.0 102. 0 -0.1 3.7 7 H
103.7 0.1 3.9 102. 4 0.4 3.6 8 H
104.0 0.3 3.8 102. 5 0.1 3.6 9 H
103.4 -0.6 3.3 102. 4 -0.1 3.2 10H
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x6 BAHEEMB FH/NEME

B %‘% i L e
104 9H % %
5 A b Kk |EWNE, K, Rk GERL, SR OEFRR—Db0), $8AD (5kg AV), =AY ) 14 1,960 2,031 -3.5| -8.1
2 5 b K |EWNE, K, HlRRRk (PEH, SR OPEFRR—DOH0), 28D (5kg AD), e RS 148 1,831 1,928 -5.0] -17.0
B % v | 1kg 377 373 1.1 5.8
B o A |TMEXAT, Iy T AV (T7TgAD) 11 139 139 0.0 2.2
AR B |Ek, BAD (kg AY) 148 233 241 -3.3 4.5
i ]\/%ZJJI\XE}TE%;D fé@? TR T AP UNG=—F —F), MCEFREFTF—F[ 0 wsol w00l —ial 10
A0 o g 100g 375 385 -2.6 3.9
AN/ T 50D, A 100g 98 107 -8.4 -
EE EEES, u—2A 100g 680 678] 0.3 0.9
7S m—Z (BREFRS) 100g 285 285 0.0 -0.3
#HoOOMH TuA7—, bbH 100g 145 145 0.0 5.8
SR A7, JEEATEYD, MAHRAYD (1, 000mLAY) 1A 186 186 0.0 2.8
g — 7 b |[Fr—r3—2 Nk, 400~450gAD 1kg 333 352| 5.4 -
&H 0 HEIE, LYAX, 7y 2755 (10f8AD) 13y 247 2471 0.0 16.0
Eo2N A ES 1kg 956]  1,258] -24.0[ -10.1
¥ Hhg 1kg 613 636 -3.6] 16.5
[URE S/ A 1kg 273 320| -14.7] -21.6
7= ¥ h & |[FERETEHR 1kg 257 322| -20.2| 0.8
Mo~ b 1kg 646 664 -2.7| -4.6
2 AL, A 1kg 261 261 0.0 -
moo | 1kg 1,864 1,838 1.4 -
WA T |[99%, 1f8200~400g 1kg 495 591| -16.2]  24.7
N [T VR RE (EBHIERT R E B BRS) 1kg 287 269 6.7 -
® A [Frs—7 Fefoh) i, RVEZRAY (1, 000gAY) 1A 300 300 0.0 -5.7
WO G OBRE R |BER O, TS (400g AD) 1K 310 299 3.7 4.0
roo— % |[wbIva—hr—%, 1#(70~120g) 100g 368 356 3.4  -1.1
TAATY = KWN=TTAAZ)—24, S 7 AD(110mLAD) 11 264 251 5.2 4.3
Eis B FHIR0IRY, HoWNRY, I 148 508 508] 0.0 2.8
T L (0 Y) [FBROTL, €0 3L, 8~10fEAD, I 137 513 528 -2.8 3.0
oY [e—x, 3 100g 209 214 -2.3] 124
»n b b T |BA, BRL, I 100g 167 167 0.0 -
OB OB [RRARECEE, Ry RRRLYAD (500~550mLAY) 1000m1 175 183] -4.4 -
v — b [E, I15AD(350mLAY), 61EAY 1397 1,170 1,170 0.0 -1.2
B —F AR 10 801 801 0.0 7.8
BB e, 1AHT 627 627 0.0 2.6
v =L (4 R) |IREBIEICEITAE — AR, A, FIE(500mLAY) 1R 517 517 0.0 3.4

*AERERP S, AEREROT . ERERMIT. BRL PR TRIOEFEETToTRY ., ZRLSMNIFRADOHMEL TOET,
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Y A H | Al 4
RS IINGE
& E! & 1 B A | @A K
10H 9H % %
%% (R E) [REgs 1375‘f2 3,549 3,549 00  -07
.om
;T i HAT M, FEOE 252, JEHTED 18L 1,927 1,933 -0.3 3.6
_ R e R T RERA AT, oS — N BEHR, (EAGEERE ) D2, 8kW, BEFES. 6 N
VTR TET I\ GRS E— BN 6. T~T. 2, T4V A — BV X, mERE R X L[ 197,280] 186,480 o8 73
BB 2 v 7T, B, SIER, 30WE 1R 1,008 1,008 0.0 2.9
Ve R U A |ARRBEHR, ek A EHER, WK, 50 A, D (810~1000gAY) 1kg 320 318 0.6 -
—— = — - YT — -
wA RSy s 2|7 /(7\;' GEM) 7 =24, TH100% ) UXTHEIS% L. E-RIT L2 ARH ], (A XIW64 A 5728|3728 0.0 .
~70cm, EF'ff&nn
W N — % — BT H, TR X754, (M) TEALEBHERA ), (XM, il 14 3,717 3,586 3.7 12.2
WON TR, (R, UR) AT A, UROBYEIEDVAHS, (A4 X])23~24cm, Fi#kdh 1¢ 10,584| 10,584 0.0 2.9
KU v 7 Al [FREEFELSNG, FAY(100mL X 104 AD) 148 999 1,014 -1.5 1.9
(L RV T TAF LR, JEEREL X, SR, JBPT#E1. 60, UVIvh, Ea (7L —A) 5 "
iR k) P T N A e AN 1 27,115 27,115 0.0 16.5
BE)#E DY) (LXag—TV), B 79— AREERL 1L 166 170 2.4 2.5
#OE fF OB (A AEEEENA, BRZRUEEEYS, T AT 7 UM, VA S 1A 9,267| 9,267 0.0 1.1
WRes7 LY, 32VEL #l L7 XNV F a—F — 23N, BV ar kfis /L, LED/ Sy 7 Ak - _
R N e 1o | 53,064f 51,624 2.8 8.3
fo—=v 7R ar 7Ry, (EMIARIERTL100%, (FAXIS~L, Ffkdh 14 6,766 6,766 0.0 18.2
/T T = =l B 3 1[m] 1,700 1,700 0.0 0.0
2 B [RAEFEZ b, Y=, Tx T —, Bub), Bk ERAL T EER) 1[m] 3,950 3,950 0.0 2.0
7 U — A kU kR, 40g A0 & 5,400 5,400 0.0 2.9

FEDVAZ:8A~10A X235 ) TNLISORIEI ST,
(E2) VW 2641 H SRR SOE

(7E3) 3T )k 264E 1 A $7ARCEIE

(JE4) M DHIIT : FRk264FE1 A #afR kI

(JEB) I—2T VR Rk 26471 H AL A B

(F6) T8 TRk 264E1 H BT 28 5

(FET) 5 Fk264E 1 A B

(TE8) Peiie FPeA - SERL264F-3 H $8IE

(7£9) Z Ok : Wik 264E6 A BT 2S5
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